*Start from the beginning ot the array
and swap the adjacewt clements i e
ngnt elewend 1§ greater thaw the left
(Ve increadng order)

o Move onto the next element and repeat
fill you reach fthe end o the amoy

* by ¥ end, the oreatest element would
hove “bubpled down’ 1o the n'qshi end

* Repegt dingther tevation fov the cecond
nreatest e\ement ‘
* The vight ond o the avroy 1 aed

* Mmosk *n’ (length ot mrm|) erations ave
needed 0 cymplerely cort the arroy.
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order

* The alqorithm stops when there
-::e m:a swops in bne (om plefe
iteration

*We need 1o perform atleast one
iteration after the frroy 1S
sorded |

+ In-place sorting




